HP A

iz
M= % 524 % 3% % 6% 574 p 8 &
1 1 2 NoTrump | 3 Dragonitd 4 Oceans Infinity| 6 2§ 7 9 11 12 %7 13 Catchall | 14 #c% 15 Open Lo
2 |1 3 Dragonitd 2 NoTrump | 4 Oceans Infinity | 7 & 6 9 10 12 %7 13 Catchall |15 Open 14 #c% %3
3 11 4 QOceans 2 NoTrump | 5 Infinity Dragonitd 6 % % 7 8 9 ki F14 X 15 Open 13 Catchall g
4 |1 5 Infinity| 2 NoTrump | 6 Dragonitd 7 & Ff 4 9 10 14 % 15 Open 12 2§ %3
5 1 6 =% 2 NoTrump | 7 & Dragonitd 8 ™ * 4 5 10 15 Open 14 #e% 11 L% Lo
6 [1 T PiEHR 2 NoTrump | 8 ™=+ Dragonitd 9 4 kipH] 4 5 6 15 Open 14 #e% 10 222 % Lo
7 |1 8§ =4 2 NoTrump |15 Open Dragonitd 5 Infinity| 4 6 7 12 %7 13 Catchall| 9 4 k4% g
8 1 9 4 kp#E]{ 2 NoTrump |10 ! Dragonitd 11 L% 4 5 6 13 Catchall 15 Open 8§ ™« Lo
9 |1 10 & &2 2 NoTrump |11 {Lija Dragonitqd 12 % f§= 4 5 6 9 4 kA 13 Catchall| 7 & "3
10 |1 11 Lijs 2 NoTrump |12 % @ Dragonitd 13 Catchall| 4 5 7 14 #e% 4 k%115 Open 6 =% joked
11 |1 12 %7 2 NoTrump |13 Catchall Dragonitq 14 #c% 4 6 = 7 9 4k E 10 822 5 Infinity Lo
12 11 13 Catchall| 2 NoTrump |14 #c*% Dragonitq 15 Open 5 6 = 7 11 s IVEEY 4 QOceans jo ks
13 |1 14 #c% 2 NoTrump | 9 4 ki#p#; Oceans T PiER 5 6 % 8 15 Open 13 Catchall| 3 Dragonitg [
14 11 15 Open 3 Dragonitd 10 Oceans 6 Zi% 5 7 8 14 #e% 9 Z£kpEI12 247 2 NoTrump Lo
15 15 Open 2 NoTrump | 3 Dragonitg Oceans 5 Infinity] 6 8 10 11 L% 13 Catchall| 1 # & L




